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RAO/ANO/C12INO-/C20UT/SRNQ/SS/VCAP/SEG12 RCO/T10SO/T1CKI/P2B
RA1/AN1/C12IN1-/SEG7 RC1/T10SI/ICCP2/P2A
RA2/AN2/C2IN+/VREF-/DACOUT/COM2 RC2/CCP1/P1A/SEG3
RA3/AN3/C1IN+/VREF+/COM3/SEG15 RC3/SCK/SCL/SEG6
RA4/C10UT/CPS6/TOCKI/SRQ/CCP5/SEG4 RC4/SDI/SDA/T1G/SEG11
RA5/AN4/C20UT/CPS7/SRNQ/SS/VCAP/SEGS RC5/SDO/SEG10
RAB/0OSC2/CLKOUT/VCAP/SEG1 RC6/TX/CK/CCP3/P3A/SEGY
RA7/0SC1/CLKIN/SEG2 RC7/RX/DT/P3B/SEG8
RBO/AN12/CPS0/CCP4/SRI/INT/SEGO RE3/MCLR/Vpp

RB1/AN10/C12IN3-/CPS1/P1C/VLCD1
RB2/AN8/CPS2/P1B/VLCD2
RB3/AN9/C12IN2-/CPS3/CCP2/P2A/NVLCD3
RB4/AN11/CPS4/P1D/COMO
RB5/AN13/CPS5/P2B/CCP3/P3A/T1G/COM1
RB6/ICSPCLK/ICDCLK/SEG14
RB7/ICSPDAT/ICDDAT/SEG13

+ov < I
—=cs Lc2
100uF 100nF
) 8
J_— oV <p—
11 10
—D q_
- LIN HIN
1 o
L HIN “
15
16 —

17 12
—I LN <12
1 R7 13

10k |
- 14 |

PIC16F1936

NC

VDD

HIN

SD

LIN

VSS

NC

VB

VS

NC

vCC

COM

LO

RO Output_One

750

4’6 l c3 L c1
100uF 100nF
5

750

Output_Two



